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PSYCHOLOGY

Paper II

Time Allowed : 2 Hours] [Maximum Marks : 200

Note :— This paper contains one hundred (100) multiple choice questions. Each

question cairies two (2) marks. Attempt all questions.

1. Which of the following statements is ¢rue of mnemonic devices ?

L

2.

3.

4.

Mnemonics help in deeper processing of information
Mnemonics help in remembering something better
Mnemonics use retrieval cues as a specific tool to improve retrieval

Mnemonics rely on visual imagery as an aid to improve memory

Codes :

(A)

(&)

1, 2 and 4 (B) 2, 8 and 4

1, 3 and 4 (D) 1, 2 and 3

2. Which of the following statements is false about implicit memory ?

(A)

(B)

(C)

(D)

Older adults often tend to have relatively poor explicit memory but their

implicit memory is better than that of young adults.

Brain areas activated during explicit learning include the prefrontal cortex

while those activated during implicit learning include the striatum.

Amnesic patients often show intact implicit learning but impaired explicit

learning.

Procedural memory can be tested in implicit-memory tasks

T.B.C. : 21/18/SET—II 2
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3. A distractor activity of 40 seconds follows the study of a list of NSS. The
participants are then instructed to recall the words using free recall. Which

of the following will happen as a result of the distractor activity ?
(A) Recency effect increases while primacy effect decreases

(B) Recency effect decreases while recency effect increases

(C)  Recency effect decreases while primacy effect remains the same
(D) Recency effect remains the same while primacy effect decreases

4. Which of the following reasons have been given by psychologists as to why

sensory memory is important ?

1. It collects i_rlformation to be processed further

2. It holds _f,he ‘information very briefly while initial processing goes on
3. It fills the blanks when stimulation is intermittent

4. Tt makes us aware of the information so that we can take some action

Codes :

(A) 1,2 and 3
(B) 2,3 and 4
(C) 1, 3 and 4

M) 1,2 and 4

T.B.C. : 21/18/SET—II 4
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5. Which of the following phenomenon supports the idea of phonological

loop ?

1,
2.
3.
4.

Aritculatory Suppression
Phonological codes
Word length effect
Buffering effect

Codes :

(A)
(B)

(©)

(D)

1 and 2
2 and 3
3 and 4
1 and 3

6. Match the items of List-I with List-II and select the correct answer using
the given codes :

List-I

(@) Procedural ‘memory ‘
(b) Implicit memory
(¢c) Episodic memory
.(d) Semantic memory‘
Codes :

(@) ) (c)
(A) (1) 3) (4)
(B) 3) 4) (1)
(®) 3) (4) (2)
D) 4) (2) 3)

T.B.C. : 2V/18/SET—II
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7A Which of the following are associated with Neisser's analysis-by-syntheses
model of perception ?

1.  Bottom up processes
2. Top down processes
3. Schema

4.  Geon synthesis
Codes :

(A) 1, 2 and 4

(B) 1, 3 and 4

(C) 2, 3 and 4

(D) 1,2 and 3

8. Match the items of List-I with List-II and select the correct answer using
the given codes :

List-I List-II
(@ Constructivist theory (1) Gregoryfs theory
(b) Ecologﬁ'cél theory - ~ (2) Gibson’s theory

(¢) Biederman’s recognition-by- (3) Primal sketch
components
(d) Marr’s theory (4) Geons
Codes : |
| (@) ) () (d)
(A) (1) (2) (4) (3)
(B) 3) (4) (1) (2)
(®) 3) (4) (2) (1)
™ @ ®© ©® o
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10.

11.

12.

Which of the following is false about colour vision ?

(A) Most colour deficiencies have a genetic origin

(B) People with n(;rmal vision are trichromatic

(C) Colour blindnesé most often occurs in females

(D) The faulty ‘gene’ for colour blindness is found only on the X chromosome.
Which of the following is not true of figure-ground organization ?

(A) It is reversible

(B) Fiéure seems to have a boundary

(C) Ground appears farther than the figure

(D) The more concave area appears to be the figure

In a painting, the train tracks seem as if they are gding off into the distance
and merging into a single point on the horizon. Which depth cue is being

used by the painter ?
(A) Linear perspecti\;e (B) Accommodation
(C) Convergence (D) Relative height

Which schedule produces a high, steady rate of responding with only a brief

pause after the delivery of the reinforcer ?
(A) Fixed ratio (B) - Variable ratio

(C) Fixed interval (D) Variable interval

T.B.C. : 21/18/SET—II 10
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13. Ohman observed that when the picture of a flower was paired with a shock,
the participants did not develop a fear but when it was that of a spider paired
with a shock, they developed a fear. This supports which perspective of classical

conditioning ?

(A) Ecological perspective (B) Cognitive perspective

(C) Behavioristic perspective (D) Humanistic perspective
14. Which of the folloWing statements is false ?

(A) In systematic desensitization, the anxiety-provoking situation is paired

with some relaxation exercise in the treatment

(B) In systematic desensitization, a conditioned stimulus is used to avoid

an aversive stimulus

(C) Stimulus preparedness of some phobias may make them more difficult

to treat
(D) Response p;'evention is characteristically combined with flooding
15. Biofeedback is based on which type of learning ?
(A) Operant conditioning
(B) Vicarious leaming'
(C) Trial and error learning
(D) Observational learning

16. The concept of reciprocal determinism does not emphasize which of the

three factors ?
(A) Person factors (B) Environmental factors

(C) Behavior (D) S-R factors
T.B.C. : 21/18/SET—II 12
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17. Manipulation of mental representations for a purpose is referred to as

what ?

(A) Thinking

(C) Conceptual processing

(B) Deductive categorization

(D) Creative processing

18. Match the items of List-I with List-IT and select the correct answer from the

codes :
List-I
(@) Mental Models theory

(b) Pragmatic schemas

©) Evolutionéry _perspective

(d) Logical rules

Codes :

(@) ® . ©

@a o 6 @
® @ @ O
© @ @ @

D) 4) (2) (3)
T.B.C. : 21/18/SET—II
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List-II

Cheater detection mechanism
Modus ponens
Representation of world

Practical knowledge
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19.

20.

21.

22.

Sternberg’s triarchic theory of intelligence does not identify which of the

following intelligences ?
1.  Analytical

2. Creative

3. Practical

4. Computational

Codes :
A) 1, 2 and 3 B) 1, 3 and 4
(C) 1, 2 and 4 (D) 2, 3 and 4

Dichotic listening and shadowing are used in studying which of the

following ?
(A) Auditory attention (B) Visual Attention
(C) Auditory Comprehension (D) Visual Comprehension

The model of attention by Deutsch and Deutch uses which form of

processing ?

(A) Serial processing- (B) Multiple processing

(C) Parallel processing '(D) Saccadic processing
Spinal nerves belong to which of this system ?

(A) Peripheral Nervous System (B) Central Nervous System

(C) Antagonistic Nervous System (D) Residual Nervous System

T.B.C. : 21/18/SET—II 16
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23.

24.

25.

Visual association cortex contains two streams of analysis, the ventral stream
POCOZIIZRE cssmxesvssysswuesonsnsmnsn of an object, dorsal stream recognizes..............ceceue
about the object.

(A) What and where (B) Where and who
(C) How and when (D) Where and how

Which law states that a higher rate of neural firing causes a stronger rate

if firing will cause stronger muscular contractions ?
(A) Murphy’s Law (B) Weber’s Law
(C) Rate Law (D) Speed Law

Match the items of List-I with List-II and select the carrect answer using

the given codes :

List-I List-I1
(@) Dura Mater ~ (1) The layer which clings on to the
: surface of the brain, thin and
delicate.
(b) Arachnoid Membrane (2) The lay'ers which encase the
central nervous system
(¢) Pia Mater (3) The outermost part of the
' meninges, tough and flexible.
(d) Meninges . (4) The middle layer of the meninges.
Code :

(a) () () (d)
(A) 1) 3) (4) (2)
(B) (3) (4) (1) (2)
©) (1) (2) 3) 4)
D) (4) (2) (3) (1)
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26. Which of the following acts as a relay station for information coming from

the mid and hindbrains and going to the cortex ?
(A) Parietal lobe (B) Spinal Cord
(C) Thalamus | (D) Cerebellum

27.  Which of the following chemicals is responsible for the transmission of impulse

between neurons ?
(A) Actomyosin (B) Acetylcholine
(C) Luteinizing hormone (D) Dopacid

28. Read each of the following two statements — Assertion (A) and Reasons (R)

and indicate answer using the codes given below :
Assertion (A) : Action potentials normally travel along axons in one direction

Reason (R) : Once an action potential is triggéred it is propagated to the

end of the fiber without decrement
(i) Both (A)-and (R) are true, and (R) is the coxlrect explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true but'(R) is false |
(4) (A) is false but (R) is true
Codes :
(A) 1 and 3
(B) 3 and 4
(C) 2 and 4

(D) 2 and 3
T.B.C. : 21/18/SET—II 20
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29. Read each of the following two statements — Assertion (A) and Reason (R)

and indicate answer using the codes given below :

Assertion (A) : The protrusion at the end of the olfactory tract; receives

input from the olfactory receptors.

Reason (R) : Olfactory glomerulus is a bundle of dendrites of mitral cells
and the associated terminal buttons of the axons of the olfactory

receptors.

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
: (C) (A) is true but (R) is false

(D) (A) is false but (R) is true
30. Which of these gircuits 1s responsible for the sensation of ‘fear ?

(A) Papez Circuit (B) Eldorado Circuit

(C) Zucketberg Circuit (D) LexDoux Circuit

31. Read each of the following two statements — Assertion (A) and Reason (R)

and indicate answer using the codes given below : -

Assertion (A) : Increased creativity and productivity leads to enhancement

of psychological resources.
Reason (R) : Positive emotions broaden momentary thought-action repertoires
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
T.B.C. : 21/18/SET—II 22
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32. A long-term increase in the excitability of a neuron to a particular synaptic
input caused by repeated high frequency activity of that input, is known as :

(A) Prolonged potentiation (B) Short-term potentiation
(C) NMDA receptors (D) Long-term potentiation

33. A measurable characteristic in a group of individuals or their situation that
predicts negative outcome in the future on is known as :

(A) Disaster inanagement (B) Risk factor
(C) Problem orientation (D) Disaster sensitivity

34.  Match the items of List-I with List-II and select the correct answer using
the codes given below :

List-I List-II

(@ Integration (1) Give up their old cultural identity
and take up the new cultural
identity

() Assimilation (2) Neither maintain contact with
new culture and also the old
culture .

(c) Separatibn (3) Rejects majority culture and tries
to maintain original cultural
identity

(d) Marginalization (4) Take in both their old cultural

values and also take parts of the
new cultural identity.

Codes :

(@) () (c) d)
(A) (1) (3) (4) (2)
(B) 3) (4) (1 (2)
(C) 3) (4) (2) (1)

D) (4) (1) 3) (2)
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35.

36.

- 37.

38.

39.

Which among these is not a conflict resolution strategy ?
(A) Syndicating (B) Avoiding
(C) Collaborating (D) Accommodating

Taking away the personhood or human qualities of another person is

known as :
(A) Deindividuation (B) Anonymity abuse
) Depopularization (D) Dehumanization

Hans Selye proposed a model on Stress called the General .Adaptation

Syndrome, what is the correct sequence of reaction to stress ?
(A) Exhaustion, alarm, resistance

(B) Sleep, a}afm, exhaustion, resistance

(C) Alarm, exhéustion, resistance, sleep

(D) Alarm, resistance, exhaustion

Which of this condition can lead to inter-group coﬂﬂict ?

(A) Cooperation - (B) E-journals

(C) Norm violation (D) Self-doubt

The Early Greek gave explanation of critical psychological issues along which

of the following categories :
(A) Naturalistic (B) Humanistic

(C) Mathematical (D) All of these
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40.

41.

Which of the following describe the state of psychology in medieval

period ?

(A) The papacy emerged as the major source of authority over political,

cultural and religious life

(B) Psychology was reduced to moral doctrines on behaviour taught by the

church
(C) (A) and (B) both
(Dj None of the above
Which of the following staternents hold true ?
(1) Ebbinghaus studies memory using non-sense syllables.

(2) He viewed that law of repetition was the key to qualiﬁcafion of memory.
(3) Ebbinghaus contributed significantly to careful experimentation in
psychology. |
(4) He was heavily iﬁﬂuenced by Fechner's work on sensation.

Codes :

(A) (1) and (2) are true
(B) (1) and (4) are true
(C) All of the above

(D) None of the above
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42.

44,

45.

The strategies toward the attainment of the common goal of moksa, are with

a focus on different psychological processes which includes :
(A) Cognition, emo'tion, and volition

(B) Cognition, emotion and behaviour

(C) Cognition and selflessness

(D) Emotion and self esteem

Mind bod& Dualism was asserted by which of the following ?
(A) Pythagoras (B) Plato

(C) Empedocles ; (D). Hippocrates

Selfless behaviour involving risk to a helper, sustained over time, as a product

of deliberate process and moral calling :
(A) autonomous altruism (B) courageous resistance
(C) heroism A (D) social facilitation

Beliefs which includes unrealistically optimistic notions about individual’s

ability to handle a threat and create positive outcome :
(A) Spotlight effect (B) Similarity effect

(C) Positive illusion (D) Self-verification
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43.

44.

45.
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46. Read each of the following two statements — Assertion (A) and Reason (R)

and indicate answer using the codes given below :

Assertion (A) : A 'symptom of narcolepsy; a complete paralysis that occurs

during waking.

Reason (R) : Sleep attack happens during the night after which the person

feels sad.
(A) Both (A) and (R) are true, and (R) is the cqrrect explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explan‘ation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
47. A belief that-ve.av.il deeds are done only by evil people :
(A) Eichr:na.nn’s Fallacy | (B) Everydéy Prejudice
(C) Hindsight bias (D) Ostracism |

48.  The loss of group efficiency resulting from increased group size, generally

leading to a decrement in productivity :
(A) Process loss

(B) Primary compensation

(C) Heat effect

(D) False consensus bias
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49.

50.

51.

52.

53.

Aggressive behaviour stemming from angry or hostile impulses with a primary

goal to inflict injury to some person or object :
(A) Symbolic aggression (B) Relational aggression
(C) Hostile aggression (D) Sanctioned aggression

The strongest support for the theory that personality is heavily influenced

by genetics is provided by strong personality similarity between :
(A) 1identical twins reared apart (B) identical twins reared together
(C) siblings reared together (D) fraternal twins reared together

Gordon Allport’s idea that the traits which dominate and shape a person’s

behaviour, around which their entire life is organized are called ............... traits.
(A) Cardinal - (B) Secondary
(C) Source . - (D) Central

Alfred Adler stressed what in his personality theory ?
(A) Environmental conflicts (B) Collective unconscious
(C) Striving for superiority (D) Archetype

A state of tension within an organism which tends to arouse the organism

and incite activity directed towards goals is called : |
(A) Need (B) Drive

(C) Libido (D) Valence
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49.

50.

51.

52.

53.
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54. Match the following and select the correct answer using given codes :

(@) Existential Anxiety 1) 1d
#) Nemrotle Anxicty %) Superego
) - Mol Ansicky 3) Ego
(d Objective anxiety @ Belig
Codes :

(a) (b) | (c) (d)
@ @ o @ @
® @ @© ©®& @ ©
© ©® @ @ o
™ @ @ @ @

-55.  Match the following and select the correct answer using given codes :

Psychological Test Application Context
(@) Myers B’riggs Type Indicator (1) Educational
(b) Minnesota Multiphasic Personality (2) Clinical

Inventory
(c) Differential Aptitude Tests Battery (3) Organizational
(d) Stanford Einéb Intelligence Scale 4) Career
Codes : |

(@) ) (c) (d)

(A) (1) (2) 3) 4)
(B) (4) (2) 3) (1)
(C) (3) (2) {1 (4)
(D) 3) (2) (4) (1)
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56. If a mother believes that her 2nd born would be more intelligent than her
1st born. This belief influences how she behaves with her children and gives

" more attention and care to the 2nd born. What is this phenomenon known

as ?
(A) Primacy Effect (B) Social Scripting
(C) Self-fulfilling prophecy (D) Stereotype threat

57. The fact that peer pressure can make a new worker put out less effort and

if they were working align an example of :
(A) Goldbricking | (B) Social Loafing
(C) Social facil-ii?ation (D) Peer pressure .
58. In the pris'oner’s dilemma game, péople tend to mostly :
(A) Compete
(B) Initially compei;e and then surrender
(C) Cooperate
(D) Cooperate early and then compete later
59. Force-Field theory of change is given by which psychologist ?
(A) Kohler (B) Lewin

(C) Alderfer (D) Vroom
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60. Which of these statements about deindivuation is/ére correct ?
1. The group members are less anonymous
2.  More irresponsibly its members behave
3.  More responsibly its members behave

4. Greater the chance for anti-social behaviour

(A) 1 and 3
(B). 3 and 4
(C) 2 and 4
D) 2 and 3

61. Read each of _thé following two statements — Assertion (A) and Reason (R)

and indicate answer using the codes given below :
Assertion (A) : Self-handicapping is used as a self-defeating behaviour.

Reason (R) : Self-handicapping allows the protection of ones self-esteem in

the face of failure.
| (A) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false |

(D) (A) is false but (R) is true
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62.

63.

The tendency for people to over-emphasise dispositional, or personality-based
explanations for behaviours observed in others while under-emphasising
situational explanations, is known as :

(A) Dispositional errors

(B) Fundamental attribution error
©) Fundémental understanding error
(D) Error of salience

Match the items of List-I with List-II and select the correct answer using
the given codes :

List-I - List-II

(@) Foot in the door technique (1) Persuading people by becoming
more likeable to them

(b) Low-Balling . (2) Using a usual number or figure
| to persuade people
() Ingratiation (8) Getting people to agree to a larger
request by using a modest request
first

(d) Pique Technique (4) Offering a deceptive low price to
: start and then raised to persuade
people to buy

Codes :

(@) (b) (c)- d)
(A) (1) (2) 3) (4)
(B) 3) (2) (1) (4)
(C) (1) 3) (4) (2)
D) 3) (4) (1) 2)
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64.

65.

66.

67.

68.

69.

What is the problem solving strategy which involves comparing the current

position with ultimate goal and then moving towards the goal referred to ?
(A) Means End Analysis (B) Sub-goal Analysis

(C) Backward Analysis (D) Forward Analysis

Which of the following is a test of Creativity ?

(A) Torrance test (B) Minnesota test

(C) Cattell’s test (D) Hull test

According to Jensen, the heritabﬂity of intelligence lies within what

range ?
(A) 0.10 to 0.15 (B) 0.60 to 0.80
(C) 0.30 to 0.35 (D) 0.90 to 0.95

Which Gestalt principle is the most general law describing how objects are

grouped together ?
(A) Proximify : (B) Closure
(C) Continuity | (D) Simplicity

What is the tendency of an object to be perceived in approximately the same

way under varying circumstances called ?
(A) Perceptual con-stancy (B) Perceptual similarity
(C) Perceptual invariance . (D) Perceptual processing

The phenomenon where groups share more time discussing shared information

than unshared information is known as :
(A) Common therapy effect (B) Applicability of cohesiveness

(C) Common knowledge Effect (D) Shareability effect
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70. What does the theory of planned behaviour state ?

(A) Cognitive model of persuasion suggesting that a target’s attention,
involvement, distraction, motivation, self-esteem, education, and
intelligence all influence central and/or peripheral processing of a

persuasive message
(B) Evil deeds are done by good people

(C) Explains attitude-behavior relationships, focusing on the relationship
between the strength of our behavioural intentions and our performance

of them
D) Expiains attitude relationships with our outward liking towards something

71.  According to a social learning theorist which statement of television would

he/she agree to ?

1. Is cathartic to look at.

2. Has no_ihﬂuence on behaviour.

3. Increases aggression that is not related to reward and punishment.

4. Provides models for aggressive behaviour.

A) 1
(B) 2and 4
(C) 1 and 3
D) 4
79. In society we tend to Denial, anger, bargaining and acceptance as stages
of :
(A) Menarche | (B) Retirement
(C) Puberty (D) Grief
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71w S g $ SHER SR & Fret e & 9§ o feT we A 2

1. Sygids SO e H)

2. SRR W R TE UL B

3. ST TG W TR T <T q wavw B

4. IHTEH FGER & U HEd TKE HT T

@A) 1

(B) 2 R 4

() 13R3

D) 4
72. WAS § TR, Py, GRaNT R SFER FET e ¥

(A) et | B) fafa

() # D) Wi
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73.

74.

75.

76.

In Milgram’s experiment on obedience about what percent of the subjects

administered the maximum dangerous shock level of 450 volts to the

vietim ?
(A) 50 (B) 79
(C) 15 (D) 65

The phenomenon that we tend to behave differently at a funeral and at a

wedding is an example of :

(A) showg that personality is constant
(B) Situational inducement

(C) A stereotype

(D) Social desirability

The social norms concerning the public expression of various emotions are

called :
(A) Display rules (B) Stereotypical rules
(C) Affective rules | (D) Gendered rules

Which of the following correctly defines the shared notions about nature of

mind between Buddhism, Samkhya-Yoga ?

(A) The mind is not an agent/agency but a set of processes
(B) Mind is a material

(C) Both (A) and (B)

(D) None of the above
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73. foewm & oTE-ueH & WA H fRad wfav Subjects F 450 Volt &1 TS
FHT victim R feam w2

(A) 50 B) 79
(C) 15 (D) 65

74. X whEm gl Bw wEl-foar # erem @ik sifiw TR # Srem S =eER S
¥ 7 59 99 F SO ¥ 2

A) <wim ¥ fF wfme fer
(B) Trufcs= gaivA
(C) wHidrEY
(D) WIfSR SrraT
75. fafe= wa &1 greisth et w1 foum 9 & WIS AMEE H R wHE

S g ?
(A) v Frm  (B) wfeg frm
(C) s fAam D) < 7w

76. frefafem § S afg, e AM @ @9 A ) vk S ar § wEr swoned
H T 1 A TR HwE@ R 2 |

(A) T A TH TS/USH § afew gfmamet @1 T G ¥
(B) W Th wEM ¥

(C) <Hi (A) 3R (B)

(D) SWx H § =5 Tl
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Tia

78.

79.

80.

81.

Match the following and select the correct answer using the given codes :

(@) Structuralism (1) Frederick Bartlett
(b) Behaviorism (2) Edward B. Titchner
(¢) Cognitive ’ (3) Leon Festinger

(d) Socio culture (4) B. F. Skinner
Codes :

(a) () (c) (d)
(A) (1) (3) 4) (2)
(B) (3) 4) (1) 2)

0 ® @ o ®

™ @ @ 3) )

- The Indian Psychological association was founded in :

(A) 1925 | (B) 1924

(C) 1923 o D) 1927

......................... s the idea that knowledge is gained through observation and
experience.

(A) Determinism (B) Parsimony

(C) Skepticism = (D) Empiricism

MéDougall used the word ‘hormic’ to describe his psychology, which is derived
from the Greek word “horme”. The meaning of the word is :

(A) Experience (B) Event

(C) Environment (D) Impulse

In India, first institution for mentally retarded people was started in :
(A) Kolkata (B) Delhi

(C) Mumbai (D) Kanpur
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T

78.

79.

80.

81.

frfafen &1 %@ =i @ R ™ Feg § W@ sw g

(@) HTEER A (1) Wefw arae
(b) HTRRAR , (2) TEHE o feam
(©) HMRHE 3) fasmT e
(d) wHIfS%-arepfas (4) uw few
*E

(@) (b) (c) (d)
(A) (1) 3 4) (2)
(B) (3) 4) (1) (2)
(®) (2) 4) (1) 3)
D) (4) (2) 3) 1)
3feTq RwSRe THIGQHE & & @ ?

A) 1925 (B) 1924

© 1923 (D) 1927

Y R 5 T PRl T o ¥ W R o b
A) FuRoER (B) ¥ |
(C) "R (D) FFHFEE

o § et W W WA o TfEE & ool @ fom R W e T
‘B’ ¥ I WA T R O3M OV w oo ¥

(A) 394 (B) =&

(C) i - (D) M

TAfE SeHET @l & fau wRa § weeh weem wReW @ T .
(A) Hiwmar § (B) fooedt &

(C) H=E # | (D) AR A
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82. Who challenged Sigmund Freud’s theories and emphasized on the concept

that freedom was a fundamental part of human nature ?

(A) Karen Horney ' (B) Harry Stock-Sullivan
(C) Erich Fromm (D) Erick Erickson
83, is a set of beliefs or theories representing a certain world-
view
(A) Epistemology ' ‘(B) Paradigm
(C) Ontology (D) Positivism.

84.  Match the following ans select the correct answer term the codes given below :
List-I List-II
(@) Positivism (1) relativism-local and specific
constructed realities

() Post-positivism (2) reality shaped by socio/political/

| cultural/ggnder/eéonomic values

(c) Critical. tl-leory | (3) reality is assumed to exist but only
imperfectly apprehendable

(d) Constructivism 4) An apprehéndable reality is
assume to exist

Codes :

(a) (b) (c) d)

(A) (1) 3) (4) (2)

(B) 3) (4) (1) (2)

(C) (2) 4) (1) (3)

(D) (4) 3) (2) (1)
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82. foe famms wae & fagmil & Tkt &t iR 39 9 | 9 G i wdsm 7=
% @ag w1 Hifdw ¥ ?

(A) HE g ' (B) ¥ WH-TelEm
(€) T %M | D) i g
83_ ............................................. .@ ﬁﬁaﬁ ﬁ ’_i ﬁ m F(ﬁ F%Ta W a_lé ﬁ .i. ﬁ
@S F TH G B
(A) T (B) Wi
(C) T (D) FWEER
84. frafafen &1 7@ ®iva @ 9 kT T #Feg | @& W g i
qEit-1 geR-11
(@) STIVEETR (1) SeaER-TyHE Ar fagm fAfda
CIESICEXI]
(b) w—aauaﬁﬁ ) arEafasar-graifes/uaAtfas/
areeptaen/ femy/anfdes qea g ffHa
() Frfera fagm (3) aTfashal AN B & W ol €Y
q U™
(d) TETER! 3 (4) TH ST SR & 9R § A

w1 g ¥ fe ofaa 8 %

HE

(@) (b) (c) (d)
(A) (1) (3) (4) 2)
(B) (3) (4) (1) (2)
(C) (2) (4) (1) 3)
(D) (4) 3) (2) (1)
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85.

86.

87.

Culture has powerful effects on all of the following except how we :

(A) See (Vision) :

(B) Interpret what we see

(C) React to what we see

(D) Apply the outcome of visual experience to our lives

Which philosophy suggests Eight-fold Path (astangika-marga) as a way to

extinguish the sufferings ?
(A) Vedic Philosophy (B) Buddhism
(C) Bhagavad Gita (D) Jainism

Read the following’ i:wo statements — Assertion (A) and Reason (R) and indicate

your answer using the codes given below :

Assertion (A) : In the randomized two group design, if the mean
difference between the two groups is analysed by both ¢ and F tests, F is

larger than ¢.

Reason (R) : In the randomised two group design tl-le‘ t2 = F

Codes |

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is falseA

(D) (A) is false, but (R) is true
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85. Wfd #1 =E ywE Wit A W g, w@ S H S
A) @ (gfe)
(B)ﬁrﬁ%ﬂé@ﬁ%’waﬁm
(C) T8 & q@d € swHt wfiafwan
D) 3fem sgwe & oftom & SR § @ FR W

86. @ T T ¥ AW M & fau sr=ifh-am W W ¥ 2
(A)%ﬁém | (B)Tvﬁ&%nf-
(C) wrTefan (D) e

87. i fiu T <Ml FeE F ufed — FUA (A) T FRO (R) IR 0N IW A= Ru
T g w o w

HI (A) : IGHIFA 31 T Al # g 1 TRl & 9 HEAHH SR H Godiw
t A1 F odeor grn fofan S & @ ¢ g9 F 9 w1 @

FT (R) : AGFd U T fedi § 2= F

He

(A) (A) IR (R) I w& § R (R), (A) F T& =rew T
“(B) (4) R (R) I W& § AFA (R), (A) Ft T e T ¥
© (&) W ¥ A (R) Tew B

D) (A) T & AfFT (R) W& ®1
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88; Which of these combinations are part of the Psychological Capital Scale ?
(A) Hope, Self-concepp, Resilience and Flow
(B) Resilience, Growth, Grit and Hardiness
(C) Optimism, Well-being, Self-efﬁcagy and Happiness
(D) Hope, Self-efficacy, Optimism and Resilience
89. Paradigm shift as a concept was identified by :
(A) Thomas Kuhn (B) Karl Popper
(C) Imre Lakatos (D) Larry Laudan

90.  The three dimensions of meaning of a concept assessed by semantic differential

scale include :
(A) activity, potency, intensity
(B) evaluation, aétivity, potency
(C) evaluation, frequency, intensity
D) frequehcy, potency, intensity
91. Wechsler’s Test of Intelligence yields :
(A) Mental age (B) Ratio IQ

(C) Deviation 1Q (D) Emotional 1Q
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88. frfafem d ¥ wmw ¥ wHste O amot =1 o & 7
(A) m,m,w&ﬁwamm
(B) wrefterar, gfig, qoal a9 Wi e
(C) SAmTEied], HIANT, TTRIE, TH=l
- (D) RN, TSI, AWMETEA T a=asiiel
89. Wer™ tfad ©w wwem # w9 § ygwmn wn -
(A) oY =Ed g (B) wE-9fR g

(C) TN & TN (D) &F &@fET g

90. =Y fadgTEd WO ® gm AE feu U wewew @ (fafagrta) gy &
e § |

(A) T, fasemn, e
(B) HeaieRA, foman, favem
(C) wEam, an-qﬁr e
(D) 3Ty, favem, o
91. HFHeR & gfg ThHem ¥ feea ¥
(A) #EfEs sy (B) ST{M . .

(C) fomerm =m. =, (D) wiRafw o, 9.
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92.

93.

Match the following and select the correct answer using the codes given below :

List-1
(@) Ontology 1)
(b) Epistemology (2)
(¢) Methodology 3)
(d) Phenomenology 4)
Codes :

(@) ®) () (d)
(A) O VI ) (4) (2)
(B) | 3) (4) (1) (2)
©) (1) 2) (4) (3)
(D) (1) (2) 3) (4)

List-IT

What is form and nature of reality
The study of nature of reality
Methods to study nature of realty

Study of human experiences and
meanings

Match the following and select the correct answer using the codes given below :

List-I
(@ Item difficulty index (1)
(b) Item discrimination index 2)
(¢) Item reliability 3)
(d) Item validity : . (4)

Code :

(@) ) (c) (d)
(A) (2) 3) (1) 4)
(B) (4) (2) 3) (1)
©) (4) 3) (2) (1)
D) (1) (2) 3) 4)
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List-II
Percentage of correct response

Point biserial correlation
coefficient

Cronbach alpha

Item-total correlation



92. frefafe =1 Ad SIvA @ T &G T Feg ¥ 9@ W g

(c)
(4)
(1)
4)
3)

-1
(1) Srafaehd 1 6K T YHid 741 g

(2) dTEfoeRal HI UHid T ATIT
(3) afaeRdl Sl YhTd & 3T o fafew
(4) THEE WEl TS HY w1 eI

(d)
(2)
(2)
3)
(4)

93. frafafed % a0 =i T = Ry U Figy ¥ @& SW g

g1

(@) TE-HH
(b) FE-HEE
) faft
(d) "R faam
wE

(@) (b)
@a - ®
(B) 3) 4)
(C) 6)) 2)
(D) (1) (2)

eit-1 |

@ T mw
®) W& fa¥cA gEwE
) U favasdtaa
(d) & u
®E :

(@) ()
(A) (2) 3)
(B) 4 (@
(C) (4) 3)
D) (1) ()
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(1)
3)
(2)
(3)

ge-11
(1) & sfEa =1 whrw
(2) T sEEfEE o
(3) W& ITH
(4) TR-HUAT WEESY

(d)
(4)
(1)
1)
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94. Which theories of emotions are represented by the statement : “External event
elicits bodily response and its perception is labelled as emotion” and “Emotions

are cognitive constructions used to explain and interpret emotional arousal

’

in a particular situational context” ?

1. James-Lange theory of emotion

9. Schachter-Singer theory of emotion
3. Canon-Bard theory of emotion

4. Lindsley theory of emotion

Codes :
(A) 3,4
B) 1,2
) 1,3
@ 2,8

95. The statement that “Nothing happens by chance” represents the following

principle :
(A) Principle of reductionism (B) Pfinciple of Positivism
(C) Principle of Determinism . (D) Principle of teleology

96. Acquiescence response bias can be reduced by :
(A) Conducting interviews
(B) Adding lie scale items
(C) Giving distraction tasks

(D) Reversing some items to run counter to the construct
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94, Ham & A fogld 39 wYd A wlaffue @ € el et e sEfeand
¥ foos emyR wRfie 3Erd ofa%Yl w1 Aed TS guH @y ufiftafq ged § =i
I % 2

1. S-am & "an fag
2. Fa-fomr wan fag
3. Ha-are Ham fagm
4. fo=q wan fagm
*E
(A) 3, 4
| B) 1,2
@ 1,3
M) 2,3

95. ‘“‘wm i W (W) ¥ "feq 7@ A B A w4 W fww fag ww
yfafafees e 2

(A) IEAEAER &1 fag (B) fasmanfear #1 fagr

() frafomr 1 fagr (D) SE¥EeR F1 fagr
96. ‘‘weAfa e fwEfa’ w FW fEE S owEA €

(A) TR FEeH 9

(B) & W Wl A e

(C) =AY dfwaief & T

D) B fauwia w & e I T 5 fawes @
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91i.

98.

99.

100.

The basic components of emotional intelligence include all of the following

except . ,

(A) Self-awareness (B) Managing emotions

(C) Managing oneself | (D) Self-confidence

THE ionmmnmammwsn is a graphic presentation of the probability of choosing

the correct answer to an item as a function of the level of the attribute being

measured by the test.

(A) Item analysis curve (B) Item characteristic curve

(C) Item discrimination scale (D) Item bias graph

................... theory maximized and .................. theory maximized the role of the
unconscious.

(A) Trait; }'lul’nan_istic (B) Psychoanalytic; behaviourist

(C) Psychoanalytic; humanistic (D) Trait; behaviourist
A measure has high internal consistency reliability when ..........ccceeee. ;

(A) Participants score at the high end of the scale every time they complete

the measure
(B) Each of the items correlates with other items on the measure

(C) Multiple observers obtain the same score every time they use the

measure

(D) Multiple observers make the same ratings using the measure
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97. M YA Hi YAd @uRw # Frafafen wuft sermemd wive ¥ faer

(A) ST '_ (B) ¥R W FeEd
©) wd yim w1 (D) sHeafereaTa
R — ™ T T D TEE B W H qm.qu‘ ® W& IW g

F wfgwa & fafafre = oo faa & wream ¥ fem ) #9 §)

(&) R fawdm 7% ® w v
© = fade D ® R e
iy A PRI U S—— e 1 e 4
(A) Tt o, S (B) AR, FEERAT
©) wfaséwmamz . D) e, S
100_@%53355%%%@%@%%“ ............................... |

(A) wfayrlt gAw WOl F ITE TR W WEiE U ¢ S off Wrow fRen s
(B) TOF W @ W § TR T & WY GewErEd o g
(€) #E FeH T W I T A W T A e

D) wE Y AT W v S a3
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